
Simplificar Frac. Impropias (E)Simplifique cada fracción a su mínima expresión en un número mixto.60 = 30 = 315 = 164 =48 30 99 40
20 = 39 = 66 = 405 =4 33 18 99

320 = 96 = 210 = 28 =80 33 70 21
220 = 285 = 315 = 120 =80 60 55 40
264 = 105 = 76 = 245 =48 30 16 56
40 = 153 = 40 = 170 =10 27 14 50

175 = 96 = 610 = 160 =50 21 120 48
170 = 77 = 224 = 164 =50 28 48 28MatesLibres.Com



Simplificar Frac. Impropias (E) RespuestasSimplifique cada fracción a su mínima expresión en un número mixto.60 = 1 1 30 = 1 315 = 3 2 164 = 4 148 4 30 99 11 40 10
20 = 5 39 = 1 2 66 = 3 2 405 = 4 14 33 11 18 3 99 11

320 = 4 96 = 2 10 210 = 3 28 = 1 180 33 11 70 21 3
220 = 2 3 285 = 4 3 315 = 5 8 120 = 380 4 60 4 55 11 40
264 = 5 1 105 = 3 1 76 = 4 3 245 = 4 348 2 30 2 16 4 56 8
40 = 4 153 = 5 2 40 = 2 6 170 = 3 210 27 3 14 7 50 5

175 = 3 1 96 = 4 4 610 = 5 1 160 = 3 150 2 21 7 120 12 48 3
170 = 3 2 77 = 2 3 224 = 4 2 164 = 5 650 5 28 4 48 3 28 7MatesLibres.Com


